e

-~ X FAHFHRRAI)
T x2my (101 & = FEC B SB #% 1001
LR TR RE (B L BhR HERE T +
RN 2 %o (&% DF064)
CETEAPERE |100+ 8% 24p 7R
Ag 34 p 8P 103 #9 % 3p
& 4 = I \“"‘
e DN EERERSTIZTRL S
CJA(<5%) DB(S-ZS%) DC(26-50%) BD(51-75%) [ JE(76-100%)
Lk i
*’”i\ FE 7T
LR 2-1\:‘1,5\-#3%:_%%%»\%:
_ 101 # 8 * = 101 # 10 " (& & Rhoc/Ey)
oo o TR ”
ig‘f%*ﬁ*@’“ 101&119i102&69(§@;n‘,
1R CHBAMFIARE TA KB Al R A A7 > B
ﬁmﬁﬁ%“ﬁﬁﬁ°’wdL*@ﬁﬁiaﬁﬁﬁﬁr/%%iﬁﬁﬁiw
ey CEApEIAR 0 S AR DF64 2 TS ATRBAHEE 3 &~
FHELAE S A FHABELIZ2EAN200 2 > PA e R o
BokwEwEs B S P 0P REY LS A ;'wza;;.\g% V8RR
l\:gmlb ’%H‘l 1’34 FaRBIETH T AL BT 4)7,”7:;,//&%& o R} EmiEw }%@411‘5
(HEBERREEP) o B PE}EFL—’HWW WKW ITP o« Fpg PG AR I R ERTHE

éw@;iwxﬁﬁﬁﬁa4%m%$@%a’jiﬁ%ﬁz%%@ﬁgi

E’b”:‘ 'éﬁﬁ&’}?fj‘ié’-’vﬁfr,\,/ﬁxtn °

Kk B 2 WGRIR G dp kP #0101 87 26 p

4% A-006-1




101 # = f& b & | 4F 4 4R 4

101 & < 2% b -5 & 7% ' -001

g#+p #1103 9% 3 p

- N R BB I(23)

X: 233744

Y: 2432450
T fg:40 F&

a-1

X: 233744
Y: 2432450

Jrfirfeao s |

| X:233739
Y:2432401

Jifir 170 &

X: 233744
Y: 2432450

Jifirf:170 &

X: 233744
Y: 2432450

J3firf5:40 &

X: 233769
Y: 2432482

45 A-006-2




g p dr 1103 £ 99 3

24
[
A

#F #4 3

J

1

1121
X

oo
i

e

101 & %
B -5 & % H-001

T

101 & =

Rl X:233761




101 # = f& b & | 4F 4 4R 4

101 & < 2% b -5 & 7% ' -001

g#+p #1103 9% 3 p

o s BRI R(L2)

5 101.08.30

i DFO6Z7 =

45 A-006-4




101 # = f& b & | 4F 4 4R 4

101 & = f2geh -B & j& ' -001 W PP 10397 37

# g

-

3 RIEAT i _ 114{103.09.03]




